[image: image1.png]- (a) Using polar coordinates, find all the separated solutions of Laplace’s equatio
satisfying the following boundary conditions in the “wedge domain’ 0 < r <
0<f<m/2

u(r0)=0, 0<r<l
u(r,m/2)=0, 0<r<l
(b) Use these separated solutions to find a series solution of Laplace’s equation in tk

given wedge domain subject to the boundary conditions

0, 0<r<l
0, 0<r<l
u(1,6)=1, 0<6<m/2

(¢) Using polar coordinates, find all the separated solutions of Laplace’s equatio
satisfying the following boundary conditions in the “wedge domain’ 0 < r <
0<f<m

o(r,0) 0<r<l
up(r,m) =0, 0<r<l

(d) Use these separated solutions to find a series solution of Laplace’s equation in tk
given wedge domain subject to the boundary conditions

ug(r,0)=0, 0<r <1
up(r.m) =0, 0<r<1
u(1,6)=0(r —6), 0<f<T





